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us: =

wls: 9

Section B :

Wug: 7

Section C :

wus: ¥

A3

: JUTSATI-Taaeqy (STufearsr-Taeie )

Section A :

Unseen Reading Comprehension

;. TEFTCHeRHY (TS -5 )

Writing Skills

: ITIIYTHSATRLUTH_ (STIIeR SATHI)

Applied Grammar

: Ufsd-raaney (Ufed-rasie)

Section D :

Reading Comprehension

Instructions :

(i) SEHT F¥797 TeER;: GUST: Gi-d |
3G Jv7-97 4 aR G &/

The question paper has four sections.

(i) ¥eIP GUSH 3IFHT I UHITIT T FHT G117 |

Jed% GUE 3 I U &1 5778 W FHH & ferad 817 |

The answers to each section must be written at one place.

(iii)  FTGEI FHATAIJART SR TG |

Fo7-T7 & SJIR T -G&IT S99 & fora &1 |

15 ST

15 AT

30 AT

30 HET:

Write the question number according to the question paper.
(iv) TG T IR TEFHAT G714 |
g4t 7l & I qEhd 4 1718 |

Answer all the questions in Sanskrit.
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@ue: ‘&’ (Section A)
AUTSATI — TN YAY (TUTSATI— AT GT)

Unseen Reading Comprehension

AITARITH ITT=De TTSeal TGAIAH FEeha I :
frfeTRad 31g=ea ol IgeRt faU TTT Tei o H&ehd | 3T ST :

15 3AZT:

Read the following passage and answer the given questions in

Sanskrit :

afe 7 yeEy Afeq afd od walfor it s o S | 74 Raay,
TG A1 AT =q STEHTR IO 7 AT | 37q: A THATRE 3Ty,

AT | STIUUSTAT: A: A SHT W1 safd | e Iam

s Y AW WA we wafq | S T JraTcHeh iR i |
STVTATCHR (ra-ehd] SiTa- Ta ded HETH T ITIHAl | 3Td TF IoH, —

‘o U AT R e |

9T
L. Tehyed 394 |
Teh FTeg H 30T SIS0 |

Answer in one word.
() SR o Ty erfe ?
(i) T THAAREVH STTLIHRH I ?

. YUiaTRH 3 |
oot TR | I S |
Answer in a complete sentence.
()  : e qa HEMH STg9afa ?
(i) a1 IF FAOT IATOT T T TR

1x2=2

2x2=4

[P.T.O.
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[II. Yedfaereusy: 3faaq s e foraa

fau T foehedt # @ 3o 3T g faaRau -

Choose and write the appropriate answer from the given options :

(%) ‘wrogw:’ 3fq foRamaee foh hque Temsl S ?

() wat (i) T
(iii) == (iv) mIffor |
(@) ‘er¥an 3id gewd fob gafade T ey, ?
() <t (i) @
(iii) afe (iv) T |
(M) “omEw:’ gfauee foh foramaey sTg=es wey ?
(i) ITeRdH: (i)
(iii) WA (iv) wafd |
(&) TR 9um i HEAHIE R SR ¢
(i) HB: (i) HES:
(i) SH=I: (iv) SfERs: |
IV. 376 3TJ=8a%d &d GYfId e T&ha foed |
3 TS o foIq IugeR ek Heeha | ferfa |

Write the appropriate title for this passage in Sanskrit.

SNfIRad velteh IfScan TeaueH Teehd- 3T :
FrfaRaa veires =t et fou T Tt o IR Teeha § i
Read the following shloka and answer the given questions in Sanskrit :
foren <erfa famar famamg =nfa amsramy |
AT, AT €ATg o ad: g@d ||
AT .
I THUeH 3O |
Teh 3168 | 3T SIS |

Answer in one word.

(i) g SH: R w7

Vix4=2

Ix1=1
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. qoiameRH 39 | 1x2=2
uof TRy | IR i |
Answer in a complete sentence.
(i) foren foh garfa ?
(i) TegEETeH T a1fed ?
[l exiaeshedss: 3fuay 3w faen fowa - 1x2=2
fou U foreredi ® @ 3fea 3T e fafau -
Choose and write the appropriate answer from the given options :
(%) volreh Ty oo foh wRitag Srgery ?
(i) o
(i) 79
(iif) FEH
(iv) Tomam |
(@) ‘=aria’ s fepamaeea foh U vetieh TeH 7
(i) guq
(i) 9
(iii) feram
(iv) &1

@us: ‘@ (Section B)
TATEHERHTIY, (TATEHE —hT )
Writing Skills 15 A

e v srefeTRaad o AesaeHsEaar Wi 3H: fomad 15x10=5

i =1 T e fferftaa o =t Hes[w W o 7w wreai st et @ gl o
g?:%rﬁ@z:

Complete the following letter written to your friend, with the help of the

words given in the box and rewrite the same :

5 [P.T.O.



. (i)

37 9 Hurer | o A @ Pl 3 7 | e T o |
et e R | g
ER] ™) FETYURE 1Y, TFH | T TohedT: AeHTeahET:

s ¥ | 37 g faquee e FAaH | ITEH
ey M p——
TR e I g | o T e HY JUIHTSSIS Haeag |

ward: oo,
U |
HSTT
TETYU, ST, 8T, Jfd, deuened:,
AR, W, AeeY, T, HEhA |

4. AU VEA Tod TCAT TSR VETRISEH] HEEdl Usel TR X
foraa 2x5=10
e fou T o= o1 guia Ao W foU TU vTeat il wEET | uter T%ha arai
ﬁ?ﬁﬁlﬁ

Describe the following picture in five Sanskrit sentences with the help of

the words given in the box below :

52/1 6



F, gatd, &®:, Fa, g, T, Ja, 3,
T, Hoefhl:, JAY, fe: |

FYET (OR)
HeS[uTYEeea™l Hreread HefaRaad, fawm, siitea usag gesadsly
T TI=R4 o

T # fau U wrsdt st wEmar @ frefafed fowa w ute @5 art |
@34@?%['\@?

Write a paragraph in five Sanskrit sentences on the following topic with

the help of the words given in the box below :

(X3 ﬁ glﬁ:”
o

T, M, J&T:, FANH, T, qEH, TR,
ST, e, SarETETEE, U, SR, O9TE:, ST |

52/1 7 [P.T.O.



@ue: ‘T (Section C)

HIIIFTATRTIT (ST SATHTN)
Applied Grammar 30 AZ:

5. UfaRaqarey Wisauey A4 afo=sg a1 el fored : 1x4=4
TF=faRaa s ° taifea uel § af= srean afifosse = fafau

Write the underlined words of the following sentences after joining or

disjoining Sandhis :

() AR T AT JUHTHT: |
(i) B +a=< |
(iii) UTUSHTEE 9 TS & TaT Tieamd f2 |

(iv) 99d + BARY Rca SATeaH TR il o1y |

6. ARG T@TTEAIGHT THH follg a1 Seqiaeheusd: e f@ad : 1x5=5
fafafaa st § Taifera uel o1 a9 ¥t faug fou 7u fawmen & @
TR fIre

Choose and write the correct compounded or expounded forms of the

underlined words in the following sentences :

(%) ‘Tt 3gERd |
(i) fuepr: = e = (i) fuer: = 1h: =
(iii) Toeh: = Teh: A THIEW:  (iv) hrenl: fueh: =1 |

(@) ‘“foawe ¢t 399 9: 999 Bd el IT99d @rafd |
() fomesh: (i) fergeret:
(iii) Tergelieft: (iv) difaen
(M) ‘3 IR TS HAT @iefd |

() == afay (i) oo™ M

(iii) g1 Sl (iv) oS UgETd |
(’5[) CCREICE Qf\a'UT: g feafa

() oyt (il) uSTE: gfegor:

(iii) RIAEoT: (iv) afeqag: |

52/1 8
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(®)

ATRgdaTRY [WfEauarl Jhfayer sy favsa a1 3faaq. sw®

“dragra: arat: feremer Tesf |
() WaggI
(iil) g& dia Ffer o

o N o o
[deneq+: [=cdl [ddda :

frafafaa st & Warfed ust & gehiaycrat i Siget AT Yo i Ifd

(i) o g IR 9@
(iv) FAgaAT: |

IR forehenl ® @ g fafa

Write the underlined words of the following sentences after joining or

disjoining suffixes to the roots or words, selecting the correct answer

from the options given below :

()

el €8 + I1q 39 Evesaret: 3fH: |

(1) <=
(i) <&
(iii) <&a: |

T STfeteRt 9T AfE |
(i) ¥ +uH

(i) & + AT

(i) HEEH + T |

T Y 97 + ST ferner Tesid |
i T

(i) gaoft

(iii) T |
“qite 9 i A S ¢
() #eq+

(i) #HE +dq

(iii) H8 + < |

‘T + e e U9 3usaid |

() "@d
(i) H@am
(iif) H@ |

Ix5=5

[P.T.O.



8. FYITTRIdaTRY NI Hos[ITT Yex: 3fd: Teays: e fof@d @ 1x5=5
Frerferfiam st 3 fo T 1 9 T 3 o o 3 ot F g
Fifsr :

Fill in the blanks in the following sentences with appropriate

indeclinable words given in the box :

G = o i |
(i) T TehT Tt TIR( |
(iii) @& @R TS 7
(iv) 38 & ST |
(v) @S S Il ?

HaS[ET

gryfa, wa:, fendy, e, afe: |
9. IfqEEANRE o areRTH I | 1x5=5

3o T 48 R ATl U1 shifeu |

Choose the correct numerical words and complete the sentences.

() SFW e —— ga&m g« | (A, =, faa:)

(i) =5 H: B | (THH, THI, Th:)

(i) SFT T e gt | (EA:, g, ])

(iv) T /oM g Tesf | (I, TR, Fedii)
V) sTteteh 9ad: | (51, 5, 3)

10. AfAREqaTRY @TEaueq AEAR | T80 foweuw: 3faq 3w T
I[EUG Tuey foaa: 1x6=6
frefefad amerlt 4 t@iferd 98 1Y[s ¢ | fou g foskedt #f @ 3ford 3T g
Y[ IS ol FNTerd o fafa

52/1 10



Choose the correct answer from the given options and correct the

underlined incorrect words in the following sentences :

(+) WTGI_F[ e |

(i) (i) STere

(iii) STem (iv) ST |
(@) vam: 99 il 3fed |

() T (i) oo

(i) o= (iv) fem )
(M) 3 A gfew=m: |

(i) ufewnfy (ii) ufesafa

(iii) ufewa: (iv) dfesay |
(&) dm= %ﬁmaﬁ:l

(i) 3R] (i) 3T

(iif) 3T (iv) 3Tgwar |
() 3 IR AT HE T |

(i) =Y (ii) g

(ii1) AT (iv) AF=q |
(=) TRt Tﬁﬁlﬁ@l

(i) TR (i) T

(i) 3T (iv) TEf= |

W@UsS: ¥ (Section D)
ufsa—sraataqy (ufsa—saaied)
Reading Comprehension 30 AZT:
11, AIIRad TermeT, F& ATeams = Ufeean Jad ST, ST S%eh for@ :

FrafaRaa M, @ SR Ay & e fiu Uy %k I geehd H
Ao :

52/1 11 [P.T.O.



Read the following prose, poetry and drama passage and answer the

given questions in Sanskrit :
“HIAISEH | 38 T A | TIvae SATeHISEY | SherdTy URTH Sa:
Y THY | Fad Fshdd, THAqAM: d IaaH Afasraty o e
3TEHg HEht SATa: 3o foehae Yo 9 | 38 S, g9 g SR
focftad o we Tde foemmisw wd fshamehard gwanty |
AT
[. TS 3O | 1
T 158 | 3T €T |
Answer in one word.

9 G: TR STl ?

II. YoTaTRH 3T | 1
uof areRy 7 I dife|

Answer in a complete sentence.

1. foweuss: 3taaq s e foraa 1x2=2
foshedi ® @ 3fua S e fafaw

Choose and write the correct answer from the given options :

(%) ‘wda faemMIsE o 3 3fd UG hed Ted, ¢

() HAE (i) ST
(iii) IdEER (iv) famam |
(@) ‘vore 3fauee foh qates Tt e, ?
() I (i) Towmaeg
(iii) ST (iv) ST |
(a) Ty
e yemt e sag fagw a9 |
THTE TercHer=R groresiy farra: 117

52/1 12



94Tt
[.  Ushyed 39 | 1
Teh ¥lee B I 57U |

Answer in one word.

T SFAEN: TH Haq 3fd T I 31feq ?

II. YofaTRH 3T | 1
qUiaTeR § I S|

Answer in a complete sentence.

o siu foeea: &: o 7

III. eafasheus: 3fay 3w foac fomea: 1x2=2
forhedt § & 3 ST g foafa

Choose and write correct answer from the given options.

(%) ‘ora:’ s o fob 4g wgeay ?

(i) o (i) sfd
(iii) Taq (iv) T |
(@) ‘vem:’ 3fa fomivorres faerse forg ?
() a9 (i) farma:
(i) ITER: (iv) &H: |

() ez
“USEE: - I foh T TR feetfa wfy Sy b RS

ae )
ATATAUH HTheATIshAd |

Tl\_ﬂ%"{:ﬁ— ﬂﬁ'mmaﬁﬂﬁgﬂ%ﬁ?maﬁaﬁw,aﬁﬁ
MY T | W STHET HAHd HEaTd hUhgRea: ... |

Fh: - (Y mRem ) om: fRR Swadl wadi? A 3
W:, at st gl %ﬁg’-‘ﬂ:? %T@Wa’ﬂf
Frgw:? TY! T8 g TR | YT H B
ST e Jetey ey = fafw=santa )

52/1 13 [P.T.O.



94Tt
[.  Ushyed 39 | 1
Teh ¥lee B I 57U |

Answer in one word.

g &: g @ ?

II. YofaTRH 3T | 1
7ot arR § I i

Answer in a complete sentence.

ShTeh: T T ol okl T AT 7

1. Yeafasheus: 3feay 3w foac fomea: 1x2=2

fau U foeredt # @ 3fod Iw g faflau

Choose and write the correct answer from the given options :

() ‘o78 g SAdiaehdeaaEn:’ 37 ‘37eq 3fd e el

EREALN
() TSEE™ (i) A
(iii) ™ (iv) I |
(@) ‘werafa’ sfa frames wdue o arfe ?
() TEE (i) T~TEH:
(iii) Teh: (iv) 7H |
12.  AfciRgdereat: agfa wa fasreds: faaan foea: 1x2=2

frferfaa 2t oAl 1 3UgE WTE foehedl H ¥ e fafau :
Choose and write the correct gist of the following two sentences from
the given options :
(%) ‘“Hdd Fshad TEdHH: FHa: ||
() HHR YA Fred: TohH T 37 |
(i) oTeT: ThH 39 T TTaeiie: AfT |

(iii) =TeT: THT T T34 |

52/1 14



13.

14.

52/1

(@) ‘et qufor: ey |
() &1 e FehT: 39 ol |
(i) oot T 7 et va & et |

(i) FAT NFTEERAT A IR T Td SFeleid S SAIG:
a= |

Hos[Td: Yfad 18 e Teifiiaayarhgasa 3= - 1 xd=4
Hos[T § & fd 98 g FMefeTiad St Teilent o 31793 ohi QU1 ShiToIg :

Complete the prose order of the following two shlokas by choosing the

appropriate words given in the box :
I o gHYRT aTe TeT AR |
TS el o SEadsTad fomedt: 117
F=: - qe FFET e (A7) TR |
() T el TS 9T el S |
[ “REmagTaTY = ard | = o |
A% e ANy fasa: 117

FEA: - WH + UG MY s I

IENLGE T U AT |
HSTHT

tl'l_@'a'g, ﬁ"{(ﬂ"ﬁ:, Tﬁ, aﬁm|

T@ETTEAUGTH ST SRAHI0 % | 1x5=5
@Tohd Ua1 3 TR T S FHH0T Fhifs|

Frame the questions on the basis of the underlined words :

() IR & 9 Fedl 9: G AfSIaaH |

(i)  STEUTECR TSI SR 3Tfe |

15 [P.T.O.



(ili)  Hercat gTaRT HIET: = |
(iv) SO Fr9=: I3 g€ |
(v) e Ak aReE T YT |

15.  srenforRaaarents semsrargamor fored - Y5 x8=4
ffeTRaa arerl st TeTsha o STgaR faRau :

Write the following sentences in their sequential order.
()  ‘ufeqon uen : weq st faferer ot fomme: wafa
(i)  g: A o Tl Feafx s = gaf |
(i) T T fare: vafq)

(iv) | @y Fafd |

(v)  G: 1o ShgdeTi HIAN |

(vi) a3 3Tk feqor: A qF wfawifd |

(vil) TERaT TSTed: e i e Hiva: Hafd|

(viii) hTeR: IATY HiUd: Wald |

16. Y@ETsqueH SEETgaRy 21 faar foeal 1x3=3
ifehd Tal o TETER 31 g feaiau|
Choose and write the contextual meanings of the underlined words.
() ‘o w30 gEod e ofeEn: T |
(i) T
(ii) aﬁa»‘lgmw =T,
(iii) gk = |
(@) ‘gegls: i af S v weem tfaq |
(i) TR -
(i) U Feal
(iii) Toered faaan |
(M) Y TS T =ik TErdaT |
@ |
(i) 9o
(iii) T&H |
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